> A
A & 0l & AF 2 E A A
20219 &= = 0llat LB & XA
SN ALSI S X
B Fo)s 25 L X
¢ FUSI MHIAAY (9 ® =)
(o
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
A3l = X 2t 132,035,204 119,589,245 12,445,959
= 96,979,421
Al 29,072,738
- 5,983,045
FHAAHE £S5 & XA 4,392,334 4,236,021 156,313
= 574,277
Al 3,324,545
- 493,512
FUSX MHIAAY 4,392,334 4,236,021 156,313
= 574,277
Al 3,324,545
- 493,512
XS As =X 37,050 23,150 13,900
201 et 23,250 21,350 1,900
01 At 22l 8,250 6,350 1,900
OXNYGMIIEHEAM(UHE AR) sI&arL
100,000& »53| * 159 7,500
OX S ALEl HAE ANAHEAMN HE
15,0008 505 750
03 &Ar2 Z I 15,000 15,000 0
O=sXeasl M 15,000
203 YR =&l 1,800 1,800 0
03 Al Z=XH R =AY 1,800 1,800 0
OERIIgt2=E 2435t 2,000,000& x90% 1,800
308 XXM SOl A 12,000 0 12,000
3/ 2S0HetE & X2 E A I 12,000 0 12,000
02021 XD ALel 2 & XA 12,000
SNSSEE, ASISXRNAE SAR AR 9,000 9,000 0
201 Let24d] 9,000 9,000 0
01 At 2teltl 9,000 9,000 0
O=2XNYS SAMIE S 25 9,000
2 A 1,331,050 1,329,050 2,000
Al 1,285,200
- 45,850
201 £B-2dH| 4,350 2,350 2,000
02 =224l 4,000 2,000 2,000
O8SANE =X 22/t 4,000
03 &Ar2 I 350 350 0
O4.198F J18 MEE SA =2 &AM 350
st HAEE(E S) 7Y 350
301 LPEAS 1,324,700 1,324,700 0
Al 1,285,200
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A ZE a9 (3) - HRAY - BYS il 2
OEsHHd s9&as 234l 37,850
At S X 22 FHl ,355,800 1,355,800 0
Al ,235,120
T 120,680
307 21201 A ,355,800 1,355,800 0
Al ,235,120
T 120,680
10 ALSISEXAIEEE2EHEX , 355,800 1,355,800 0
OAM2 =SR2 2EH| ,355,800
- SRS AMII=X2 741,100
Al 675,290
T 65,810
-~ SEAMS A2 614,700
Al 559,830
- 54,870
FREEAMII=ERNZ 2229 25,000 25,000 0
307 21201 A 25,000 25,000 0
10 M2 SXNANEEHE2IHEX 25,000 25,000 0
O=Z &gz =Ela 22 29| 25,000
Zoo(ga) X 55,300 55,300 0
Al 53,000
- 2,300
307 gl2tol & 55,300 55,300 0
Al 53,000
- 2,300
10 AL SXAIEEE2EH EX 55,300 55,300 0
OJI=ZE%3 294 A& 4,300
Al 3,000
- 1,300
OFEnrzt 2494l XN& 51,000
Al 50,000
- 1,000
S HE A ALY XHE I 12,000 11,500 500
201 Let24d] 4,000 4,000 0
01 At 22l 4,000 4,000 0
ORAIDALX 210 2,000,000& »23| 4,000
301 LBEAZ 8,000 7,500 500
01 MEIE2EZE 45z 8,000 7,500 500
OSSN HAALX AU 8,000
E=IES 682,815 604,907 77,908
Al 682,815
307 21201 A 682,815 604,907 77,908
Al 682,815

- 104 -




<

n0

Kio

Hl w

A 1,000

78,908

A 396
A 396
A\ 396

7,151
7,151
7,151

3,545
3,545
3,545

H3r
Wikd
RIS
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574,277
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Off &t 24
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1,000
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681,815
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424,132

Al

424,132

Al
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257,683
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Al
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A AMIEX
B Fo)s 25 L X
e FOUEX MHIAAIY e ®H)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
Al 19,728
- 61,344
NEAMIBHEAM AR=2 2E L ESAMY = 49,600 0 49,600
Al 32,200
- 17,400
307 2Iz2t0| A 49,600 0 49,600
Al 32,200
- 17,400
02 QI AAIE E X 10,000 0 10,000
OXNEAMIIEEHESEAM HEKAZD SstAtY 10,000
Al 7,000
5 3,000
03 AU EESIHES 39,600 0 39,600
OXSAMIIEEHEHAM AR= Mol olAHH| 36,000
Al 25,200
- 10,800
OXNEAMIIBEEHESEAM AIR=2 29| 3,600
0ol EXAHA A 2,264 577 2,508,002 A 243,425
= 1,419,893
Al 512,909
- 331,775
S|U=X KA 2,264,577 2,508,002 A 243,425
2 1,419,893
Al 512,909
- 331,775
KAAS MBI AE A (KIS HES ) 1,152,681 1,323,020 A 170,339
= 806,877
Al 230,536
- 115,268
308 XHXIGH SO0l & 1,152,681 1,323,020 A 170,339
= 806,877
Al 230,536
- 115,268
11 2I2SHUSHEAERAE ASH] 1,152,681 1,323,020 A 170,339
OXNYGAMSMEIA EXAIS (KIS ESH) 1,152,681
= 806,877
Al 230,536
- 115,268
S0s UEFE sSEMHA NS 134,400 142,800 A8,400
= 94,080
Al 20,160
- 20,160
201 et d| 67,200 71,400 A4 200
= 47,040
Al 10,080
5 10,080
01 A2 22l 67,200 71,400 A 4,200
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©OAEI = X
D RO EXNAMHA X2
DY YERN XA

= _ — d =
SN P SA(EN) - MBAY - BES e HlDE2
OS AtallZrelAtey =& 2dH| 67,200
= 47,040
Al 10,080
T 10,080
307 21201 A 67,200 71,400 A 4,200
= 47,040
Al 10,080
- 10,080
01 2L 724l 67,200 71,400 24,200
O AtcllZelAte e X XI& b 67,200
= 47,040
Al 10,080
T 10,080
JtArZHE &2 X & AL 243,886 270,405 A26,519
= 170,720
Al 36,583
- 36,583
308 AHAIEHH SO 243,886 270,405 A26,519
= 170,720
Al 36,583
- 36,583
113/ 2S0HUHeSBHEAEALS I 243,886 270,405 A26,519
OJMZHE HEX AL 243,886
= 170,720
Al 36,583
- 36,583
KM MU ASETAIY 2 (X&) 3,200 3,200 0
= 2,240
Al 960
201 Let2dE] 3,200 3,200 0
= 2,240
Al 960
01 At 22l 3,200 3,200 0
OXAAMIMEIAERAIY 2L (X&) 3,200
= 2,240
Al 960
SN XNEASEFA 6,658 5,308 1,350
201 Let24d] 4,508 4,508 0
01 At 22l 3,500 3,500 0
OslY=RANE 22 HA S 1,500
ONEZEIIR =AHEZNE 28 ¥ 2,000
—HJI=E H™el 500,000& =42t 2,000
02 =224l 1,008 1,008 0
OSEAMAZ2IAN EUHE AHEE
21,0003 401 128 1,008
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SA ABEX D
Mo RO SXAHA NS

&2 SYER NEAY (&)
5 - 4
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
203 YR =&l 1,350 0 1,350
03 Al F=XH R =AH| 1,350 0 1,350
OsIYd=NAME g2F 1,500,000& *90% 1,350
301 LEPEXF 800 800 0
12 JIEE4 3 800 800 0
OMZTLEIIF FASIME NESAX A
A& 20,000« 10K 4t 7 800
AT SEAtdl el X 15,000 ,000 0
= 7,500
Al 3,750
T 3,750
201 Lt 6,000 ,000 0
= 3,000
Al 1,500
- 1,500
01 At 22l 6,000 ,000 0
OAtell 2t el At =& 23l 6,000
= 3,000
Al 1,500
- 1,500
202 04l 1,500 ,500 0
= 750
Al 375
- 375
01 = LH 4 HI 1,500 ,500 0
OSE At 22l At 20t 1,500
= 750
Al 375
T 375
307 g2+l & 7,500 ,500 0
= 3,750
Al 1,875
T 1,875
01 22724l 7,500 ,500 0
OAtell 22l ALY CH&HXF XI&HI 7,500
= 3,750
Al 1,875
- 1,875
AAE SESANAMEIAMEN 2 1,000 ,000 0
201 Let24d] 1,000 ,000 0
01 At 22l 1,000 ,000 0
Oagsa S#A3FH g s 1,000
NEASEZE2AM H& X oLz 3,000 ,000 0
301 LEd = 3,000 ,000 0
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SA ABEX D
Mo RO SXAHA NS

e slUA=sx XA (2 &HH)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
09 HAIAHI X & 2 3,000 3,000 0
O NYABEEEEAM H&X HIX 0O 3,000
=0t Jt= 2 X School F=& 5,000 5,000 0
201 2Et2A Y| 3,000 3,000 0
01 AP 2t 2] H| 3,000 3,000 0
Os &0tJ)l= =X School 29 3,000
301 et M= 2,000 2,000 0
09 HAIAHI X & 2 2,000 2,000 0
OZE &0tJl= 2 X School ZEOWHAN &= AlH|
10,0003 *40Y *53] 2,000
= NGAMNIBHEOAN 2HH X 21,600 21,600 0
201 et 9| 21,600 21,600 0
01 AP 2t 2] d| 21,600 21,600 0]
Os NGAMIEBHEAN A G
15,000 x240H 63| 21,600
D2 L9 MEX|d KNSAY 622,680 0 622,680
= 311,340
Al 207,352
5 103,988
301 dEtE M= 622,680 0 622,680
= 311,340
Al 207,352
- 103,988
01 Al B & X 26 2 622,680 0 622,680
OZzLH192ted MEX2d] XSAY 622,680
= 311,340
Al 207,352
- 103,988
S At &2l A eldd] X 55,472 0 55,472
= 27,136
Al 13,568
- 14,768
101 e1214| 55,472 0 55,472
= 27,136
Al 13,568
- 14,768
04 JI2ZtHIZ22NEES 55,472 0 55,472
OS0t= 2 A2 (2YH) JI2tH 22X B 54,272
= 27,136
Al 13,568
5 13,568
OEXZAE 600
OY&E 5 Iy 600
AHAAE SME BH 125,227,940 112,753,037 12,474,903
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SN ALSI S X
Hu: AUE LEME P
©el: Lol XS CERED
= - — L=
SA - BB B () - MM - BES Ol &t o San HmEET
= 94,950,511
Al 25,217,914
T 5,059,515
Lo =8 125,227,940 112,753,037 12,474,903
= 94,950,511
Al 25,217,914
T 5,059,515
LOENEM HRFX 6,450 5,070 1,380
201 L2l 5,550 4,170 1,380
01 At 22l 5,550 4,170 1,380
OFJedia N8 dARE: F48+H
100,000& »4H x123] 4,800
O gRiel At RAEI 2 dF a3 750
-FE &= 100,000 x5H x 13| 500
-89 50,000 = 10H 50
- I M= 20,000& 10 200
203 YR =&t 900 900 0
03 A=A H =AY 900 900 0
OkLe=XEgd gR=2 1,000,000& *90% 900
MA=0 (=) 910,000 722,778 187,222
= 819,000
Al 91,000
301 LEHZ 910,000 722,778 187,222
= 819,000
Al 91,000
01 MEI2EZE 5= 910,000 722,778 187,222
OLe=XAE dAH=SH 910,000
= 819,000
Al 91,000
LZAE 29H X2 981,629 961,449 20,180
= 687,139
Al 294,490
307 glz2+ol & 981,629 961,449 20,180
= 687,139
Al 294,490
10 ALSISXAIEEE2GHEX 981,629 961,449 20,180
O2LZAIE 23l 981,629
= 687,139
Al 294,490
LZAE SAMXN SR N2 26,000 24,000 2,000
Al 26,000
307 21201 A 26,000 24,000 2,000
Al 26,000
10 AL SXNAIEEE2EHEX 26,000 24,000 2,000




SN ALSI S X
M AYS LEME B
©el: Lol XS CERED
SA - BB B () - MM - BES Ol &t o San HmEET
OLZANE BAXR SX=+=E 26,000
Al 26,000
LZ AL OoF2tAHeld oAl K& 42,000 42,000 0
Al 42,000
307 21201 A 42,000 42,000 0
Al 42,000
10 ALSISXAIEEE2EHEX 42,000 42,000 0
OLZAIE OF2b3HIels elAH| 42,000
Al 42,000
Lo s 294 XA 682,240 660,011 22,229
Al 477,568
- 204,672
307 21201 A 682,240 660,011 22,229
Al 477,568
- 204,672
10 M2 SXNANEHE2IHEX 682,240 660,011 22,229
Ok =Xa 249l 682,240
Al 477,568
T 204,672
Lo=EN2 SAL SHEEN K& 6,620 10,440 A 3,820
Al 6,620
307 glz2tol & 6,620 10,440 A 3,820
Al 6,620
10 AL SXAIEEE 2 H EX 6,620 10,440 AN 3,820
Okel=Xa BEAX SHEENH 6,620
Al 6,620
Fet R =LA g=3d XA 66,413 65,423 990
Al 66,413
307 21201 A 66,413 65,423 990
Al 66,413
02 HAFHAANGFEE 66,413 65,423 990
OZezd FUZAE 3l 66,413
Al 66,413
LQAANE S0t X 400,000 400,000 0
Al 400,000
307 21201 A 400,000 400,000 0
Al 400,000
10 M2 SXNANEHES2IHEX 400,000 400,000 0
OLeANE S22t X& 400,000
Al 400,000
LOIRAAE SAL XN 288,960 288,960 0
Al 288,960
307 glz2tol & 288,960 288,960 0




SN ALSI S X
Hu: AUE LEME P
©el: Lol XS CERED
SA - BB B () - MM - BES Ol &t o San HmEET
Al 288,960
10 ALSISXAIEEE 22X 288,960 288,960 0
OLURAANE SAX =X+ 288,960
Al 288,960
d2Y 294 NJ(ET ML) 241,200 236,200 5,000
Al 192,960
- 48,240
307 21201 A 241,200 236,200 5,000
Al 192,960
- 48,240
10 ALSISXAIEEE2IHEX 241,200 236,200 5,000
OZz% 244 XA 241,200
Al 192,960
- 48,240
dz2Y 29l X3 (AHHAS) 113,460 113,460 0
307 gl2tol & 113,460 113,460 0
06 283 900 900 0
OZ2Y Zolithe MYLE WIIRES 900
10 ALSISXAIEEE2EHEX 112,560 112,560 0
OZzd 2gd XN& 112,560
Y Y A2 6,700 6,700 0
Al 3,350
- 3,350
301 LA F 6,700 6,700 0
Al 3,350
- 3,350
01 Ml28E 6= 6,700 6,700 0
OZgz 3=24 =2 6,700
Al 3,350
T 3,350
Z2Y =3 Tz 0 22|k iRl At 35,000 35,000 0
Al 17,500
- 17,500
307 glz2tol & 35,000 35,000 0
Al 17,500
- 17,500
11T M SXAISE EX 35,000 35,000 0
OZgY &3lZ= 0y 22| Xt BiXl 35,000
Al 17,500
- 17,500
Z2Y 243 T8 MY 16,850 16,850 0
Al 16,850
307 21201 A 16,850 16,850 0
Al 16,850




SN ALSI S X
Hu: AUE LEME P
el Lol SXEX (&)
5 - 4
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
11T M SRASE EX 16,850 16,850 0
OZ2Y Zd3 2208 A 16,850
Al 16,850
Mot el =XAIE 298 XA 354,276 354,276 0
Al 354,276
307 glz2+ol & 354,276 354,276 0
Al 354,276
10 ALSISEXAIEEE2EHEX 354,276 354,276 0
OMIM=EXAIE 23 H XI& 354,276
Al 354,276
x=3a X2 109,906,058 97,983, 380 11,922,678
= 87,924,846
Al 17,584,969
- 4,396,243
301 LeBAF 109,906,058 97,983, 380 11,922,678
= 87,924,846
Al 17,584,969
- 4,396,243
01 MI28HE 6= 109,906,058 97,983, 380 11,922,678
OJizda X3 109,906,058
= 87,924,846
Al 17,584,969
T 4,396,243
Lo ESSMEIAAY 2,490,520 2,273,600 216,920
= 1,743,350
Al 747,170
307 glz2tol & 2,490,520 2,273,600 216,920
= 1,743,350
Al 747,170
11T MISXASEX 2,490,520 2,273,600 216,920
OkolstEss MUl AAY 2,490,520
= 1,743,350
Al 747,170
SHLQ ZoHel SSeHMMMEHIA 2EXA 106,440 39,816 66,624
= 53,220
Al 53,220
307 21201 A 106,440 39,816 66,624
= 53,220
Al 53,220
11T MISRASEX 106,440 39,816 66,624
OSHEZO H0Hel STOUAMAMMNYIA SHX|
2 106,440
= 53,220
Al 53,220
o SNk FEAZS XA 203,350 203,350 0
Al 203,350




SN ALSI S X
Hu: AUE LEME P
ol Lol SN S (B9 ®R)
5 - 4
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
301 LEHZ 203,350 203,350 0
Al 203,350
01 MI2EZE 06z 203,350 203,350 0
ORo& =Hkeo d223 N 203,350
Al 203,350
Z22Y RANE=> 88,000 58,000 30,000
401 Al HIZ 2018 80,000 50,000 30,000
01 A& HI 80,000 50,000 30,000
OZ24g |RAE=H 80,000
405 XtatE SHI 8,000 8,000 0
01 XML = ZH SHI 8,000 8,000 0
OZ2g == =z wH 8,000
HSEE Mot Ql AAIBHE 52,675 52,675 0
Al 52,675
307 glz2tol & 52,675 52,675 0
Al 52,675
11T M SXAISE EX 52,675 52,675 0
OHSEHE THItLCl AABE 52,675
Al 52,675
d2AY RE2IAANG(BEX) 216,926 216,926 0
Al 216,926
307 glz2+ol & 216,926 216,926 0
Al 216,926
11T MISRASEX 216,926 216,926 0
oZzAd X& 216,926
Al 216,926
dZ2AY RS AAY (XA 11,000 11,000 0
201 Let2d] 7,000 7,000 0
01 At 2teltl 2,000 2,000 0
OgdzAag 22 2,000
02 =224l 5,000 5,000 0
OZZ2AE ANERA & E= 5,000
405 TtHabF S| 4,000 4,000 0
01 AL ESH SH 4,000 4,000 0
OZzAY FIPY 4,000
Colwa 23l 39,000 36,000 3,000
Al 31,200
- 7,800
307 21201 A 39,000 36,000 3,000
Al 31,200
- 7,800




M AR =X
M AYS LEME B
©el: Lol XS CERED
SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
10 M3 SXNANEHI2IHE=S 39,000 36,000 3,000
Okolwa 294l XA 39,000
Al 31,200
- 7,800
AMLUNHEYE 22 285,292 285,292 0
Al 242,498
T 42,794
307 21201 A 285,292 285,292 0
Al 242,498
T 42,794
10 ALSISXAIEEE2GHEX 285,292 285,292 0
OAlLIZ2dg 2498 XN 285,292
Al 242,498
- 42,794
Colgiiel ¥ Atsl2sXE =i 7,299,986 7,299,986 0
= 3,649,993
Al 3,649,993
307 21201 A 7,299,986 7,299,986 0
= 3,649,993
Al 3,649,993
11 AMISIAIEE X 7,299,986 7,299,986 0
OLoldriel & AtslEs ALSHl K& 7,299,986
= 3,649,993
Al 3,649,993
COoI=ERAE AslEHHBdEas XA 59,043 58,543 500
Al 12,000
T 47,043
307 glz2tol & 59,043 58,543 500
Al 12,000
T 47,043
02 It M AHE X 17,443 17,443 0
OLolttx ZUes At 10,943
OZ2EsE Lous FItuwsH 3,200
O&JI - HtsUa N 2,000
Oodolg &At & XI& 500
Okolod &AL &0 XA 800
03 QI HE2IEHEx 37,100 37,100 0
Oty Sd&8s 24| 24,000
Al 12,000
- 12,000
Odzsl& 22l 13,100
-NJ R= 300,000& »12& 3,600
- ot 23 100,000& »12& 1,200
-s&J| H&SsE Hattl 6,000 x12& 72
-&ZJ ZIIZAM 130




2AM: M=KD
M AYS LEME B
ol ol =2XEX CER-ED
SN EB S (3H) - NEAY - BES ofl &k o San HDE2
-&g X HA 104,000& *x23] 208
-dZ 32 AEHEH A2 2 2,000
—&ojortM e & =42 100,000& x12& 1,200
-5 HNEH M =32
140,000& ~12& 1,680
—20IAHHIAIAE X ZAHH] 250
SOoIAHHIAAEY E9H| 130,000& ~12& 1,560
- AU NMEA U =2 100,000& x12& 1,200
04 QI2tSH AFAFS B X 4,500 4,000 500
OLoME=Uz HILAA 4,500
Y2Y Yol L U3H XV 291,852 291,852 0
- 72,963
Al 145,926
- 72,963
307 QI2t0| ™ 291,852 291,852 0
= 72,963
Al 145,926
- 72,963
10 AR SXAIEEE2IHIBX 291,852 291,852 0
OZ=2E Witety] & 2d=2H| X& 291,852
= 72,963
Al 145,926
- 72,963
HESHAY (A= X ) 150,353 92,185 58, 168
= 34,740
Al 17,370
- 98,243
Jl2 &l 68,930 92,185 N 23,255
Jl2&H| 68,930 92,185 N 23,255
201 et | 18,440 17,535 905
01 At 2+2/H 18,440 17,535 905
O=sAMEXN #¢ 20,000 *602 A 1,200
OEH & #¢tl 4,208
—SHT2IH(2E4) 120,000& *1CH *23] 240
—HHTZ2H(K, Z2H) 420,000 x34H 13| 1,260
—HHZ2EH(K, E) 264,000 * 124 23] 528
— 2T 2 () 70,000 x4 x13] 280
—2dHIZTRIH(K) EH 400,000& 424 x13] 1,600
—HYyzZaAH((/p) EH 300,000& *13] 300
OBA2YE Jl242H| 10,000& x19H x12& 2,280
OAlZ2tel 22X =4 b
8,000& x5 .54 %19 x 128 10,032
OREFRSEE 15,000 x4E5 «12& 720




2N

X{ XH -
S =

At = X ot
HH 2L ZH (A3 =X

el Jl=2d (St
SHE|
SA-E B (3H) - MBAY - BES 0 Ak o8 %@i HD=2
202 04l 43,320 63,840 A20,520
01 20 43,320 63,840 A20,520
ooyl 190,000 192 * 122 43,320
203 YR E=XH| 7,170 6,570 600
01 Jl2A2HYREXH| 2,970 2,970 0
O=XAM=Z 3,300,000 *90% 2,970
04 BANRILRFRH| 4,200 3,600 600
ORM2Y gREXH| 4,200
—25010|5H(2 2= 4% Z &)
350,0002 122 4,200
olad 2oy 81,423 0 81,423
=2 34,740
Al 17,370
2 29,313
SSALIZ2I AL 0124H] X 81,423 0 81,423
=2 34,740
Al 17,370
2 29,313
101 @124l 81,423 0 81,423
=2 34,740
Al 17,370
2 29,313
03 RINAHAL22IE S 81,423 0 81,423
OESAIAZ2IAH2E) 20 69,480
=2 34,740
Al 17,370
2 17,370
OSE A Z2IAH4Y) Mg 11,943
- YA S| 4,521
3E0lA 45018 22K (1Y)
1,790,280 2 x 14 1,791
3E0lA 45018 22 K(19)
895, 14094 1 896
54014 6408 22XH(1Y)
1,833,380 1 1,834
P === 3,082
S 3E0lA 44018 22XH(1H)
1,476,420 x 14 1,477
-5E0l A 6EHDIC 22X(1H)
1,604,770 x 14 1,605
- AN 4,340
- 340l A 44018 22X}H(3H)
1,077,280 x3H 3,232
-5E0l A BEHDIRH 22X (1H)
1,107,050 » 14 1,108




